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T [ JI ® WA — 2 5 v FGC| 13 73 (37/36)
2 E H B E|E B CC| 76 76 (38/38)
3 XA # @B 7|4 -4 9 v FGC| 79 79 (41/38)
8 E ® Bz-DFALYSYvybHC 79 79 (40/39)
m B E #B|4A -4 9 v FGC| 79 79 (38/41)
F RE B m|dEEISTYI GC| 19 79 (41/38)
H K Z R|IZFLZFVyH C 79 79 (41/38)
8 R B E|E Bx CcC| 80 80  (43/37)
9 m & B A7 -—L v b RGC| 81 81 (41/40)
R OF B X|E B CccC| 81 81 (39/42)
11 h % B =H|#A# — 45 9 v FGC| 8 82  (41/41)
B & B #H|ZDFLYSTvybHC 82 82  (42/40)
B & % Bl — L v 9% XGC| 8 82 (40/42)
7 M Bh|dtEEY S v GC| 82 82  (44/38)
15 m B B E|LEEISLYY GC| 83 83  (41/42)
LUE 158%8 F&EH
N EEOE # Gc| 83 83  (41/42)
E A = EB|GAY 17 B 83 83  (40/43)
B OE B A|E B CcC| 83 83  (39/44)
19 T BlA — 49 9 v FGC| 84 84  (42/42)
+ B & E|&F — 4 9 v KGC| 84 84  (42/42)
*xZE H #H |+ — 4 9 v KGC| 84 84  (43/41)
F K ®E BR|&tBEBEIILYHIRCC| 84 84 (43/41)
# T B ®B|7 —L v % RAGC| 84 84 (43/41)
£ FE B HB|ZFLYSIvybHC 84 84  (44/40)
25 N MK = Z|7 — L w H RGC| 8 85  (42/43)
[T E #ldBBEITILYyHIZRCC| 8 85 (42/43)
S A X[ -4 %9 v FGC| 8 85  (44/41)
X E FdBEITILYy Y X CC| 8 85 (41/44)
kB 7 K B #B|ZKLYVSLvys C 85 85  (43/42)
W @ S| FLAYSTvsC 85 85  (41/44)
X N B # GC| 85 85  (42/43)
L B B &4 —45 9 v FGC| 8 85  (44/41)
= B B —|dwmEIILvyHIRCC| 8 85  (42/43)
e % |7 — L v Y RGC| 8 85 (40/45)
B F OE OE|ZKLYISTwHC 85 85  (43/42)
36 WMo\ ¥ Z|4A — 42 9 v FGC| 86 86  (44/42)
X B # tHm|7 — L v ¥4 RGC| 86 86 (44/42)
X B - % # GC| 86 86 (44/42)
wm T Z|4A4 — Y 7 v FGC| 86 86  (42/44)
b B o E(dsEIILYHYRCC| 86 86 (44/42)
41 B & B EB|7 — L v Y% XRGC| 87 87 (44/43)
E B ZE = # GcC| 87 87 (44/43)
X B B R|IA -5 9 v FaGc| 87 87  (43/44)
X & F BldwmEEIILYHYRCC| 8] 87 (46/41)
& ® A -4 Y v FGc| 87 87  (44/43)
<7 K Bl — 4% 9 v FaGc| 87 87  (44/43)
R OFE -\ -4 9y FaGCc| 87 87  (44/43)
48 B K M X[ -4 % v KGC| 88 88  (42/46)
FE X B #B|4&# -4 9 v FGc| 88 88  (48/40)
Bm O # KM@ ED /K Gc| 88 88  (44/44)
H F #® E|#—4%5 9 v FaGc| 88 88  (44/44)
XK X BldsBEINLYHRCC| 88 88 (46/42)
T £ K B|A# —45 9 v FGC| 88 88  (43/45)
54 2 IE # GC| 89 89  (47/42)
£ I N g7z — L v 4 RGC| 89 89 (44/45)
& W -\ — 4% 9 v FGC| 89 89  (42/47)
B W M =F|ZFLYISIvySHC 89 89  (44/45)
£ K & #|IEEISTYHY GC| 89 89  (44/45)
moll El7 — L v v 2AGC| 89 89 (44/45)
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54 M BH X X[ZFLH 5w 5HC 89 89  (45/4%)
7T B B X|4&£ —4 9 v KGC| 89 89  (44/45)
T " ' B|LEESISTYY GC| 89 89  (47/42)
#F H H B|7 — L v Y XRGC| 89 89  (46/43)

64 T B £ E|lZFLHPS5LvybHC 90 90  (44/46)
E B & ®R|&#—4 9 v FGc[ 9% 90  (50/40)

66 &k B B Al@ Al K Gc| 91 91 (45/46)
M B X® #|dBBEIILysRCCl 9 91 (44/47)
N B F Bl — 49 9y FGel 9 91 (43/48)
T BT M -7 —L vy RGC[ A 91 (46/45)
B E E # # Gc| 9 91 (46/45)
BN ok B|E B Ccc| 91 91 (46/45)

72 E 7 K & k(|7 — L v 4 XGC| 92 92  (49/43)
8 & 8 7|4 —42 %9 v KaGc| 92 92  (45/47)
W E F RA -9 9 v FGC| 92 92  (45/47)
2 & =x(7 — L v 4 XGC| 92 92 (45/47)

76 bl B RB(ZFALYSCws C 93 93  (50/43)
AH O B B[ — 49 %9 v KGc| 93 93 (45/48)
M B & #|#+ —4 9% v FGc| 93 93  (45/48)
b o/ & A[FE B CccC| 93 93  (52/41)
5§ B B F|\dBBEIILyHIRCC| 93 93 (48/45)

81 & B ®B| E|E BRCC| 94 94  (40/54)
| O OF #|T — L v s RAGC| 94 94  (45/49)

83 w o A % & GC| 96 96  (47/49)
TR T - A K Al K GcC| 96 96  (52/44)

85 X R F —\|#—-—49 9 v FaGc| 100 100  (48/52)
N B OF O # G cC| 100 100  (47/53)

87 # £ A& |4 — 4 % v KaGc| 101 101 (51/50)

88 Z 0 Bl — 4 9 v FGc| 102 102 (50/52)
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xB| H KX F B|ZFLHISTvysHC

Bl 2 BB W A|lltEBEYISTvH GC
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